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Designs for All Bit Widths at Once
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Challenges
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Approach
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QQQQQ (1o.ready) 23 def Run(ins: Inputs, regInit: Regs): (Outputs, Regs)={

» A » » . .
—[/}—L—[,‘I_‘—L‘E‘X' 10 R := 1o0.1n 24 val (outs, newRegs ) = Trans (ins, reglnit)
1 | ’ 11 state := false.B 25 val timeout = setTimeout (newRegs .cnt.value == ins.
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12 }.otherwise {

io_in.valu
1, 1)) 26 if (!timeout ) Run(ins, newRegs ) else (outs, newRegs )}
27 i ins: it: =

B} ) N /\ DN 13 R := Cat(R(©), R n
® 4§ S I <S I H/\J A/—EET . 14 cnt := c¢cnt + 1.U 27 def In:.Lt(lns. IIIIII , rdInit: Regs ): (Outputs, Regs )={
< taln eSS Ca a ) /I .\_L-[’J__‘—_A " when (cnt == en/- 1).U) { state := true.B } } |23 require(len > 1) |
[ io.ready :- state 29 val r."gInit = FFe s(Lit( ) it(e,len).U, )
\ /L, - N S -, j io.out := R } |:su Run(ins, rglnit) } } |
/——‘ /——‘% 7 - R 31 ensuring(Regs.R.value ins.io_in.value)
/E\‘> XTJ‘ i }52 El/(J Sca|a§A1— + ) j jL_,/fT) } Listing 1: A Chisel program: The running example
{ R_n 2(w-c_n) ==:|trivial|
_ _ 2 ((R%2)*Pow2(w-1) + R/2) / Pow2(w-c-1)| ==:|Pow2Mul |:|
> /_‘\‘—: 1l .10_r(?ady := regs.state|] // main body 5 ((R%2)*Pow2(w-c-1)*Pow2(c) + R/2) / Pow2(w-c-1)
T\ UL s 12 if (io_ready) { + ... I/ other proof steps
13 R_next := ins.io_in s i % Pow2(c_n) }.qged
14 state_next := Lit(false).B } ) _ _
- a EH N2, 1 1 ﬁSZL. f“‘ IR D) [] - else { 1 def Pow2Mu1(x: BigInt, y: BigInt): Unit = {
¢ A__ATXE /\A HU Ry | _‘_/—J_Q T o A I 16 R_next := Cat(regs.R(®), regs.R((len - 1), 1)) 2 require(x >= @ && y >= @)
) _ . 3 decreases (x)
17 cnt_next := (regs.cnt + Lit(1).U) tch
\ 18 if (regs.cnt === Lit(len - 1).U) 1 X ZZSZ @{_> O
\—AEU% %I Eiiﬁﬂjjs . I T 7T )ﬁ “ v state.next = Lit(true).B } ’ _
B Ir] —EgiA , . T ' ’ 6 case _ => {
‘[/J__‘ ta eSS__A/\jD 20 io_out := regs.R : Pow2 (x+y) ==:| trivial |:
Listing 2: Scala program generated from the running example 8 2 % Pow2(x-1+y) ==:| Pow2Mul(x-1, y) |:
N/ r , — 99 Ny ——= 9 2 * Pow2(x-1) * Pow2(y) | ivi | :
. Z\jJ '[/J_:Eu% o 10 Pow2(x) * Pow2(y)
11 }. qed
12 }
}.ensur (- = ( ) 2(x) (y))

Case Study
PN TR Fe I F2 LBy — > Scaladm PEddift, W uERISC-VAL I 8% 1 B L0 fRik a4

_C Eiie_l lﬁzl—ﬁ% -— i Table 1: Verification Effort
° ~Ansi . 2 A7 =6 [ vt
X-divider: #%17AH Ik FRIE Design #Chisel (#Verilog) | #Scala #Scala-vrf
. R-divider: A7 IR X-divider 73 (388) 166 (2.3%) | 484 (2.9%)
| R-divider 129  (177) 251(1.9%) | 451 (1.8x)
« X-multiplier: boothZmfdWallace- X-multiplier 137 (27278) 154 (1.1x) | 1675 (10.9x)
R-multiplier 120 (153) 229 (1.9%) | 507 (2.2x)
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» R-multiplier: #A7AHINFE In kami (a similar
verification), the JE——
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everywhere. Then we
have less verification
efforts

— — — — — — — — — — — — — — — — — — —_ — — —— — — —



	幻灯片 1

